D. {iI5D

AD VaD DLB FTLD Al

(n=196) (n=47)  (n=56) (n=24) (n=382)
RRRK 3.6%V 6.4% 19.6% A 0.0% 6.5%
FEERX 0.0%v 2.1% 8.9% A 0.0% 1.8%
BB R 1.5%V 2.1% 10.7% A  0.0% 2.9%
FIRZE 2.0% 2.1% 5.4% 0.0% 3.1%
ZRHDINSD 0.0% 2.1% 0.0% 0.0% 0.5%

(AFEIZZL, VAEEIZDAELY, p<.05)

E. A%
AD VaD DLB FTLD Al

(n=196) (n=47) (n=56) (n=24) (n=382)
B E DILES 6.1% 2.1% 17.9% A 0.0% 6.8%
BEDEE 1.5%V 4.3% 17.9% A 0.0% 3.9%
NEE~DFEEDHYDE 2.6% 2.1% 5.4% 0.0% 2.9%
B RE K 1.5% 4.3% 3.6% 0.0% 2 4%
FDRHDTR 0.5% 2.1% 0.0% 0.0% 0.5%

(ABEIZZ L, VEEIZDELY, p<.05)

F. 8 4-EED

AD VaD DLB FTLD All
(n=196) (n=47) (n=56) (n=24) (n=382)
BREET 24.5% 12.8%V  41.1% A 33.3% 24.6%
EEED R 14.8% 8.5% 21.4% 33.3% A  13.9%
BIFEDFERIE 11.2% 21%V  10.7% 25.0% A 9.2%
BILDDOET 13.8% 12.8% 16.1% 29.2% 13.4%
T DD EL - HFED 0.5% 0.0% 0.0% 0.0% 0.3%

(AFEIZZL, VEEIZADLLY, p<.05)




G. BRime

AD VaD DLB FTLD All
(n=196) (n=47) (n=56) (n=24) (n=382)
EENITA 5.1%V 4.3% 232%A  292% A 8.4%
MIZEGEE 3.6% 0.0% 8.9% 8.3% 3.7%
4 B4 By $ ) 2.6% 0.0% 0.0% 12.5% A 2.1%
Z Dt D) B 4Nl 2.0% 2.1% 0.0% 12.5% 2.4%
(ABFEIZZL, VAEITDHELY, p<.05)
H. Z RIS
AD VaD DLB FTLD All
(n=196) (n=47) (n=56) (n=24) (n=382)
NG 18.4% 12.8% 16.1% 0.0% 14.7%
SR 37.2% 36.2% 44.6% 16.7% 36.6%
y:yc 6.1% 6.4% 23.2% A 0.0% 7.6%
Z DD Z R E 0.0% 0.0% 0.0% 0.0% 0.3%
(AFEIZZL, VEEIZDILY, p<.05)
. EF1TE
AD VaD DLB FTLD All
(n=196) (n=47) (n=56) (n=24) (n=382)
HE1E 35.2% 21.3% 35.7% 25.0% 30.1%
BRI 3.1% 2.1% 1.8% 8.3% 2.9%
HEEITH 2.6% 4.3% 0.0% 37.5% A 4.7%
RRETAE 3.1% 8.5% 0.0% 4.2% 3.4%
ZTRHDEEITE 2.6% 10.6% 1.8% 0.0% 3.1%

(AFEIZZW, VEEIZDAL, p<.05)




). ERIRES

AD VaD DLB FTLD All
(n=196) (n=47) (n=56) (n=24) (n=382)
AREE 18.4% 12.8% 41.1% A 4.2% 20.4%
& = B2 14.8% 19.1% 16.1% 8.3% 14.1%
BEREE 3.1% 4.3% 3.6% 0.0% 2.6%
1B E 7 RIS 1.0% 0.0% 1.8% 0.0% 1.0%
EEREE TN 51% 2.1% 7.1% 0.0% 4.5%
(ABEIZZL, VEEIZDIL, p<.05)
K. BITEIRE
AD VaD DLB FTLD Al
(n=196) (n=47) (n=56) (n=24) (n=382)
BYIET 8.7%Vv  17.0% 35.7% A  12.5% 13.4%
BE 1.5% 0.0% 0.0% 8.3% A 1.3%
ARERFLD 1.0% 2.1% 1.8% 0.0% 1.0%
AEEM 0.0% 0.0% 0.0% 0.0% 0.0%
E1IFDZE1L 0.0% Vv 2.1% 0.0% 8.3% A 0.8%
wEEINBITE 1.0% 0.0% 0.0% 8.3% A 1.0%
25 5.1% 4.3% 0.0% 8.3% 4.7%
BITERHEEZT DI 3.1% 0.0% 0.0% 16.7% 2.6%
(AFEIZZL\., VEEIZAD1E0, p<.05)
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Bt 5 1 2 0 0 0 0 2
bLB i 10 4 1 1 1 0 0 4




=14 TR

P51

E#

"‘%ﬁﬁjﬁt —-.QE@{& %***4% ﬁm*—;?’/\ &{EFE

I3l 5 BT
AD Bt 20 6 5 4 0 3
oy 49 21 8 6 4 0
B 10 1 2 1 1 0
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N BPSDA D BPSDLL4}
AD B4 (N=51) 50 98.0% 14 27.5%
M (N=107) 101 94.4% 38 35.5%
DLB B (N=19) 19 100.0% 6 31.6%
it (N=28 27 96.4% 14 50.0%
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%17 BPSDIEAR DRI 2 KB HL 8

B (N=71)

2L (N=134)

P—-value

=18
AL
B

ible
&
%%

RRE B

Ry 410 il

R E
EETH
AR [EE
BETHES

22 (31.0%)
19 (26.8%)

58 (81.7%)

9 (12.7%)

10 (14.1%)

- 1.(1.4%)
23 (32.4%)

15 (21.1%)

48 (67.6%)
30 (42.3%)
34 (47.9%)
14 (19.7%)

54 (40.3%)

32 (23.9%)

82 (61.2%)

16 (11.9%)

26 (19.4%)

400
48 (35.8%)
16 (11.9%)

59 (44.0%)

56 (41.8%)

58 (43.3%)
34 (25.4%)

0183
065
- 0.003"
0878
- 0.341
- 0.486
- 0.624
- 0.081
10.0017

0.949

0.528

0.363

7218 BPSDIERDE B IZ LB HE

"Y2#R7E P<0.05

AD

DLB

P—-value

=18

1R
HAZE

3>
S

X

472 2 4 A
B0

5 8
RHTE)
EEEE
BABHREY

- 56 (35.2%)
26 (16.4%)
110 (69.2%)

11(6.3%)

21 (13.2%)

4 (2.5%)
48 (30.2%)

18 (11.3%)
80 (50.3%)
66 (41.5%)
64 (40.3%)
30 (18.9%)

20 (43.5%)
25 (54.3%)
30 (65.2%)

14 (30.4%)
15 (32.6%)

1(2.2%)
23 (50.0%)
13 (28.3%)
27 (58.7%)
20 (43.5%)
28 (60.9%)

18 (39.1%)

0.307
<0.001°
- 0611
- <0.001
0.002"
0.895
- 0.013"
0.005"
0.316
0.812
0.013"
0.004"

"X2#&TE P<0.05
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®21 EVREDAR

A. BB HAESE
21 EARAAE
AD 81 (51.3%)
DLB 34 (72.3%)
B AvoFomg) ERAAK B Houdsu(mg) BRAAK
5 4 (2.5%) 8 2 (1.3%)
AD 10 16 (10.1%) AD 16 6 (3.8%)
15 3% 24 _ 3(1.9%)
___________ 20 25(15.8%) B 11 (7.0%)
g 48 (30.4%) 8 3 (6.4%)
5 3 (6.4%) DLB 16 7 (14.9%)
10 8 (17.0%) 24 1(2.1%)
ElLE 15 1 (2.1%) : 11 (23.4%)
___________ 20 _ _____6(12.8%)
& 18 (38.3%) 2 UNRFTS(mg) FRAH
9 1 (0.6%)
DB Fx~ULmg)  ERAm 00 P 18 2(1.3%)
3 3 (1.9%) 5 3 (1.9%)
AD 5 26 (16.5%) 45 3 (6.4%)
___________ 0 ______56(38%) bLB 9 _1(2.1%)
5 35 (22.2%) = 4 (8.5%)
3 3 (6.4%)
DLB 5 7 (14.9%)
___________ 10 ______4.(85%)
g 14 (29.8%)
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F%21B PifEMHREE

a2 ERA#
AD 76 (48.0%)
DLB 18 (38.3%)
il DIFFE U (mg) FERAAE P AS5oHEVU(mg) FEAAK
20 1 (0.6%) 1.25 1 (0.6%)
25 7 (2.5%) 2.5 3 (1.9%)
50 8 (5.1%) 5 2 (1.3%)
62.5 1 (0.6%) AD 7.5 1 (0.6%)
75 2 (1.3%) 15 1 (0.6%)
AD 100 5 (3.2%) 20 1 (0.6%)
125 106% ___ 25 1(0.6%)
150 2 (1.3%) E 10 (6.3%)
200 5 (3.2%) 5 1(2.1%)
250 1 (0.6%) DLB 125 1(2.1%)
300 1 (0.6%) 15 1(2.1%)
___________ 400 _ _____1€08% s T T g 4y
B 35 (22.2%) = s
25 4 (8.5%) 52 TUETSY—)L(mg) FERAAE
50 2(43%  ap 6 2 (1.3%)
LB 75 121%) o212 1(0.6%)
100 1(2.1%) H 3 (1.9%)
150 1(2.1%) DLB 15 1(21%
300 1(2.1%) . i
T E T T T T T T T T T T 0 (21.3%) 2B on)LJnro(mg) FERAAS
20 1 (0.6%)
L] DANYET(mg)  ERAA AD 25 3 (1.9%)
0.5 7(25%%) _ 50 __ ____1(0.6%)
i 5 (3.2%) : 5 (3.2%
A 15 4 (2.5%) — 1328)
2 1 (0.6%) il FF7 71 E(mg) FERAAZK
___5_______________1_7_(763_%)_ 25 2 (1.3%)
% o0 4 (2.5%)
DLB 01'5 } 818 AD 75 1 (0.6%)
TR T T T T T T T T T T (48%) e 100 _ _ _____10.6%)
- § 5 (3.2%)
EA il NYNYE(mg) FERAAH
AD 6 1 (0.6%)
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AD 35 (22.2%)
DLB 17 (36.2%)
O] SR (mg) ERA 2kh LRSS (mg)  (FERAL
25 7 (2.5%) AD 25 1 (0.6%)
AD 50 8% ___—~ 50 1(0.6%)
75 1 (0.6%) B 2 (1.3%)
___________ 1_09______1_(_0;6%)_ DLB 50 1 (2.1%)
i 17 (10.8%)
DLB 25 6 (12.8%) 2k ITRIAO0TS5L(mg) FERAA
50 8 (17.0%) AD 10 1 (0.6%)
i 14 (30.0%) 20 1 (0.6%)
DLB 10 1 (2.1%)
E?Eﬁ' E)lx'?’"j't“/(mg) 1§Fﬁ*§& E?H‘ﬁ /fl'_'l:-\’—'t%"-_‘/(mg) 1§%A§Q
AD 15 3 (1.9%) p
DLB 15 2 (4.3%) AD 20 1 (0.6%)
== DLB 12.5 1.(2.1%)
= R JLEY K (mg) ERAE it LR HI(mg) FRAAK
50 2 AD 25 1 (0.6%)
AD 18 1
100 1 2k TaOoXtFo(mg) FERAAH
i 4 (2.5%) AD 40 1 (0.6%)
| 2k k)TR/—)L(mg) ﬁFﬁAﬁl
AN EN 1 /'n o/




21D [N REE

2k RN
AD 29 (18.4%)
DLB 10 (21.3%)
W N)ILTOEmg) FRAA 2 HIL\REE(mg) FRAAK
200 8 (5.1%) AD 100 1 (0.6%)
240 106% ______ 200 2(1.3%)
AD 300 1 (0.6%) g 3 (1.9%)
400 13 (8.2%) DLB 200 1(2.1%)
00 _ ____3(1.9%)
B 26 (16.5%)
200 2 (4.3%)
400 2 (4.3%) 2k JFIL(mg) FRAAH
DLB 600 1(2.1%) DLB 200 3 (6.4%)
800 2 (4.3%)
21000 1(2.1%)
B 8 (17.0%)
FT21E A RE
2 AR
AD 15 (9.5%)
DLB 7 (14.9%)
2k AUORREQDY  FERAAE 2 MAREZDOM FHAAR
AD 15 1 (0.6%) oaxYYS5.L2 1 (0.6%)
80 1(0.6%) DTN L4 1 (0.6%)
B 2 (1.3%) O275€JEE1 1 (0.6%)
10 1(2.1%) A75ERAMM 1 (0.6%)
DLB 20 1 (2.1%) AD AJ75ERAR2 1 (0.6%)
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